
Wild Land Drivers GmbH
Sportplatzstr. 4
D-85635 Höhenkirchen b.München

E-Mail: info@wild-land-drivers.de
Phone:  +49 (0) 8 10 2 / 89 58-16

W
W

W
.W

IL
D

-L
A

N
D

-D
R

IV
ER

S.
D

E
MONTAGEANLEITUNG
ASSEMBLING INSTRUCTIONS

ARMREST INTERIOR /  ARMLEHNE INNENRAUM 
– Artikel-Nr: 19R 5012

WILD LAND DRIVERS GMBH

weight: ca. 4,0 kg 



page / Seite  2
Revision 4: 05.08.2021

article no.:
19R5012

19R5012.1
1 1x

M6x25; DIN 933 Zn 2x

M6x20; DIN 7991 Zn 2x

Geto-Well M6 2x

SW 10 2x

mounting kit: 19R9012

 
10

M6:
10 Nm
 
M6:
2 Nm

19R5132_R / 19R5133_L
2 2x

005495
5 2x

19R5139
3 2x

005129
4 2x

 3 mm  6 mm

 Ø6,6

Ø15
 

4



page / Seite  3
Revision 4: 05.08.2021

Step 1bStep 1a

Step 2

2x

Step 3a

Step 3b

2x 2x
2

2x 3

Step 9

Step 3a

2x

2x

Step 4

2x
2

3
2x

2x



page / Seite  4
Revision 4: 05.08.2021

Step 5

2x

Ø15

Step 8a

2x 2x
2

2x 3

Step 9Step 8b

M6x20; DIN 7991
2x

M6x25; DIN 933
2x

2x

5

1

I

II2x

4
2x

Step 6

1

Step 10

2x

1

 

 

M6: 
10 Nm 

M6:
2 Nm

Step 7

M6
2x


